Note: given the fact that you’re ‘obliged’ to answer the weekly questions, try to profit the most from the task:

- Start by reading the lecture notes.

- Looking at them as little as possible, answer the questions.

The answers to the Week 10’s questions should be handed to me at the beginning of the exam. They should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.

Please write WEEK  12 in bold at the beginning of your answers.

Week 12 – Modern Monetary Theory

In the following questions, consider the circular flow of expenditure-output-income presented in the lecture, with two differences: an initial level of investment of 25Y and a saving rate of 0.25.
1.a)What would have been the effect of a decline of investment from 25Y to 20Y on the levels of output and saving had it not been for the Japanese government’s full-employment policy? Explain.

b) What determines the amount of an economy’s saving? Explain
2. To prevent a recessive spiral, the Japanese government injected 5Y of expenditure.

 a) How was that expenditure financed in a first stage?
b) Write the payments involved in that operation.
c) Write the implications on the balance sheets of the private sector, of banks and of the consolidated government (CB + gov).

c) Indicate the consequences of the deficit’s financing on banks’ reserves.

d) Indicate the consequences of the deficit and of the way it has been financed on the value of saving and in the form of saving.

4. Suppose government bonds offer a risk-return combination considered attractive by savers.

a) What will the private sector do with the newly acquired deposits?
b) Write the payments involved in that operation.
c) Explain the effects of that operation on the balance sheets of the private sector, of banks and of the consolidated government (CB + gov).

c) What will be the effect of the deficit on the monetary base and on the quantity of money? Explain.

d) At the end of the process, how will the government expenditure end up being financed? Explain.
After 25 years of 5Y budget deficits ultimately funded through the purchase of government bonds by savers, suppose that these cease to find attractive the risk-return combination offered by those bonds.
5. a) What will happen to the stock of government bonds, the money stock, the monetary base and banks’ excess reserves if there is a new 5Y deficit next year? Explain. Start by writing the effects on the balance-sheets of the various economic agents.

b) How is the deficit financed?

6. a) What will happen to the stock of government bonds, the money stock, the monetary base and banks’ excess reserves if the government redeems maturing bonds of 25Y by printing monetary base? Explain. Start by writing the payments involved and the effects on the balance-sheets of the various economic agents.

b) What can you say about the possibility of a government’s default?

7. a) What will happen to the stock of government bonds, the money stock, the monetary base and banks’ excess reserves if savers suddenly carry out massive sales of government bonds (of 100Y) in the secondary market if the CB buys up them all? Explain. Start by writing the payments involved and the effects on the balance-sheets of the various economic agents.

b) What can you say about the possibility of a sudden sharp increase in bond rates in the secondary market?
8. Present the balance-sheets of the gov+CB, banks and savers after the occurrence of the events mentioned in questions 5-7.





….

Questions linked to the last part of week 11.

9. Compare savers’ balance-sheets before and after questions 5-7.

a) After questions 5-7, savers might increase consumption. Why?

b) If that happens, will AD be pushed above FE under Functional Finance? Explain.
10. Compare banks’ and savers’ balance-sheets before and after questions 5-7.

a) After questions 5-7, real-estate and stock market bubbles may emerge. Why?

b) How can the government prevent those bubbles?

11. Compare banks’ and savers’ balance-sheets before and after questions 5-7.

a) After questions 5-7, savers’ and banks may attempt to buy foreign government bonds. Why?
b) In flexible rates, that will cause a depreciation of the yen? Explain.

c) What is the effect of that depreciation of the yen on the expected subsequent evolution? Explain.
d) What will be the consequence of this on the incentive of savers and banks to buy foreign government bonds? Explain.
